



7647 Main Street Fishers  
 Victor, NY 14564  
 Toll Free: 1-800-333-0498  
 FAX: 585-758-0222  
 salesinfo@brite.com

# Quote

No. #Q91073  
 Date 12/03/2021

**Bill To:**  
 McCleary Police Department  
 Chief Steve Blumer  
 100 S 3rd St.  
 McCleary WA 98557

**Ship To:**  
 McCleary Police Department  
 Chief Steve Blumer  
 100 S 3rd St.  
 McCleary WA 98557

Quote Expiration Date	Contract Number	Sales Rep	Shipping Via
	* NCPA SYNEX 01-97 *	James Means	UPS Ground

Qty	Item Number	Unit Price	Extended
	** Body Worn Camera Solution **		
5	<b>GET-OVWX3VXXXXX1</b>	\$547.73	\$2,738.65
	GVS : BWC BC-03, LTE Verizon, 1 year hardware warranty, Body Worn Camera (BC-03)-64GB + FHD/HD/WVGA + LTE Verizon + WiFi + GPS + BLE, 1 year hardware warranty		
	** CUSTOMER RESPONSIBLE FOR ACTIVATION & MONTHLY DATA PLAN **		
5	<b>GET-GE-SVBFEXT1Y</b>	\$64.63	\$323.15
	Body Worn Camera (BC-03) - BC-03 Extended Warranty - Year 2 - Getac, BC-03, Extended Warranty, 1, Year		
5	<b>GET-OVWX3VXXXXX21</b>	\$547.73	\$2,738.65
	GVS : Body Worn Camera (BC-03 Verizon LTE), 25th month device refresh option program, full upfront, 1 year hardware warranty		
5	<b>GET-GE-SVBFRRF2Y</b>	\$150.61	\$753.05
	BC-03 Extended Warranty for 1st refresh program-Year 2&3 - Getac, BC-03, BWC 1st Refresh Program warranty, 2, Year		
5	<b>GET-OBX03U</b>	\$63.17	\$315.85
	GVS : BWC BC-03 Extended Battery		
1	<b>GET-OD3DDU</b>	\$1,214.72	\$1,214.72
	GVS : Body Worn Camera (BC-03) - 8 Port Multidock with Datamover (MD-03D), includes 150W AC Adapter (US)		
1	<b>GET-GE-SVMTEXT4Y</b>	\$167.52	\$167.52
	GVS : Body Worn Camera (BC-03) - MD-03D Dock w/ 150W - Extended Warranty-Year 2, 3, 4 & 5 - Getac, MD-03D, Extended Warranty, 4, Year		
5	<b>GET-ORB42X</b>	\$67.00	\$335.00
	Getac Body Worn Camera (BC-03), magnetic quick release charging USB cable (3.94ft)		
5	<b>GET-ORB51X</b>	\$143.27	\$716.35



7647 Main Street Fishers  
 Victor, NY 14564  
 Toll Free: 1-800-333-0498  
 FAX: 585-758-0222  
 salesinfo@brite.com

# Quote

No. #Q91073  
 Date 12/03/2021

Qty	Item Number	Unit Price	Extended
	GVS : Body Worn Camera (BC-03) - Single Port Dock (VD-03), with 40W Vehicle Adapter		
5	<b>GET-GE-SVBGEXT4Y</b>	\$26.99	\$134.95
	GVS - Body Worn Camera (BC-03) - VD-03 Dock - Extended Warranty - Years 2, 3, 4 & 5		
5	<b>GET-ORB615</b>	\$118.90	\$594.50
	GVS : Body Worn Camera (BC-03) - Single Port Dock (VD-03), with 24W AC Adapter (US)		
5	<b>GET-OLX0BX</b>	\$18.90	\$94.50
	Getac Body Worn Camera USB Extension Cable for VD-03, 12.5 ft (for in car use)		
5	<b>GET-OUA049</b>	\$3,040.10	\$15,200.50
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - (Cloud Unlimited, SW maintenance), 60 Months Pay Upfront		
1	<b>GET-OZX07X</b>	\$2,550.00	\$2,550.00
	GETAC VIDEO SOLUTIONS INC. : Getac Video Solution - ONSITE TRAINING Per day -		
	** In Car Video Solution **		
5	<b>GET-OATACEBEAXX1</b>	\$2,147.24	\$10,736.20
	GETAC VIDEO SOLUTIONS INC. : VR-X20-Focus One with Blackbox Recording - Integrated 4GB RAM + 256GB SSD + Battery Backup + WIFI + GPS + Crash Sensor, DVR mounting bracket, 1 year hardware warranty		
5	<b>GET-OIA04X</b>	\$56.53	\$282.65
	GETAC VIDEO SOLUTIONS INC. : Mounting Bracket (Visor) - ZeroDark Camera AND Display (CU-D50) - Interceptor *NEED TO SPECIFY VEHICLE FLEET LIST PRIOR TO ORDER SO CORRECT BRACKETS ARE SENT*		
5	<b>GET-GE-SVDNEXT4Y</b>	\$747.91	\$3,739.55
	Getac DVR + Cameras + Display Extended Warranty - Years 2, 3, 4 & 5		
5	<b>GET-ONX0GX</b>	\$15.57	\$77.85
	GETAC VIDEO SOLUTIONS INC. : Ethernet Cable - RJ45/CAT5e (25 ft)		
5	<b>GET-OTX11X</b>	\$143.80	\$719.00
	GETAC : Signal trigger box (TB01)		
5	<b>GET-GE-SVTGEXT4Y</b>	\$54.13	\$270.65
	GETAC : Getac Video BT Trigger Box Extended Warranty - Years 2 - 5		
5	<b>GET-ORB39X</b>	\$37.64	\$188.20
	Getac Body Worn Camera (BC-02), magnetic quick release charging USB cable		



7647 Main Street Fishers  
 Victor, NY 14564  
 Toll Free: 1-800-333-0498  
 FAX: 585-758-0222  
 salesinfo@brite.com

# Quote

No. #Q91073  
 Date 12/03/2021

Qty	Item Number	Unit Price	Extended
5	<b>GET-OUA049</b>	\$3,040.10	\$15,200.50
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance), 60 Months Pay Upfront		
1	<b>GET-OZX07X</b>	\$2,550.00	\$2,550.00
	GETAC VIDEO SOLUTIONS INC. : Getac Video Solution - ONSITE TRAINING Per day		
<b>Sales Information:</b> James Means Account Manager - Public Safety 541-361-9166 jmeans@brite.com		<b>SubTotal:</b> <b>Tax Total:</b> <b>Total:</b>	<b>\$61,641.99</b> <b>\$0.00</b> <b>\$61,641.99</b>
		Finance Payment:	\$14,066.09 / Annual



7647 Main Street Fishers  
 Victor, NY 14564  
 Toll Free: 1-800-333-0498  
 FAX: 585-758-0222  
 salesinfo@brite.com

# Quote

No. #Q91073  
 Date 12/03/2021

## Terms and Conditions

- Agreed upon payment terms: CREDIT CARD
- Any changes to the orders after acceptance may result in additional fees.
- Any returns must be accompanied by a return authorization and will be subject to restocking fees.
- All services will be invoiced upfront and efforts debited against the units described above.
- All hardware and accessories will be invoiced when shipped.
- All software will be invoiced upon delivery of license.
- All subscriptions will be invoiced when activated.
- Terms and conditions listed within a Master Services Agreement or Statement of Work supersede any listed here.
- Travel costs will be billed separately unless otherwise stated.
- All support is considered manufacturers depot warranty support unless otherwise stated.

## Finance Options

- Financing numbers are for quoting purposes only and are subject to the Lenders final rate and approval.

Finance Company	No. of payments	Payment Frequency	Finance Type	Payment Amount
LFS	5	Annual	\$1 BO	\$14,066.09

## Customer Signature

The signature below certifies that I am authorized to purchase the goods and services listed within this quote, have reviewed it for accuracy and the terms and conditions are acceptable.

Signature: \_\_\_\_\_

Date: \_\_\_\_\_

Print Name: \_\_\_\_\_

Title: \_\_\_\_\_